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PH 78 7.6 75 76 7.6 7.7 7.9 7.9 7.8 8.1 7.6 7.7 65~85 0% 77 [C 75 ~ 81 | 77
4+ [ BOD 28 1.2 1.2 0.8 1.4 0.7 0.7 15 14 1.4 1.6 1.0 2 8% 1308 € 07 ~ 28 ) 13
SS 8.4 8.0 6.4 5.8 20 2.2 7.8 46 11 6.2 3.8 3.6 25 0% 73 € 22 ~ 20 ) 73
= | DO 10 9.9 8.8 9.8 9.8 9.2 11 11 11 12 9.6 12 75 0% 10 | 88 ~ 123 ) 10
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JKER 0.0005 ( ~ )
= [ ZIFILKE N ( ~ )
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IR ES 0.002 ( ~ )
1, 2—Y9ARISY 0.004 ( ~ )
1, 1—=Y"YAAIFLY 0.02 ( ~ )
& | YA—1, 2—y9nn17LY 0.04 ( ~ )
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RERUEREBREER 10 ( ~ )
IvEk 0.8 ( ~ )
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£EX 2.7 2.4 15 1.9 15 2.2 2.0 2.6 3.3 2.8 2.7 2.5 23 I 15 ~ 33 ) 23
£)y 0.17 0.11 0.057 0.05 0.083 0.05 0.08 0.06 0.11 0.11 0.061 0.12 009 JC 005 ~ 017 )| 009
B4 RmEHS <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <005 |( <005 ~ <005 )| <0.05
BERK 96 8 8 8 8 8 8 8 8 8 8 8 8 86.5%
(EFRIEIER) 60 5 5 5 5 5 5 5 5 5 5 5 5 78.3%
(HEEDE) 0 0 0 0 0 0 0 0 0 0 0 0 0 100.0%
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